Available online at www.jnasci.org ©2014 JNAS Journal-2014-3-8/818-823 ISSN 2322-5149 ©2014 JNAS



SOME FIXED POINT AND COINCIDENCE POINT RESULTS IN PARTIAL METRIC SPACES

Narges Sariolghalam

Department of Mathematics, Payam e Noor University, PO BOX 19395-3697 Tehran, Iran

Corresponding author: Narges Sariolghalam

ABSTRACT: In this paper, we consider fixed point theorems on partial metric spaces. We studied weakly compatible functions on partial metric spaces, and we prove that under some conditions these functions have a unique point of coincidence and common fixed point.

Keywords: Common fixed point, Coincidence point, Complete metric, Contraction, Partial metric, weakly compatible.

INTRODUCTION

It is well known that the Banach contraction principle is a very useful, simple and classical tool in nonlinear analysis. There exist a vast literature concerning its various generalizations and extensions. In (6), Matthews extended the Banach contraction mapping theorem to the partial metric context for applications in program verification. After that, fixed-point results in partial metric spaces have been studied by Ran and Reurings (7). Recently, Abbas and Jungck (1), have studied common fixed point results for non-commuting mappings without continuity in cone metric space with normal cone, and a great deal of new results in this notion published in (3, 4, 5, 8).

First, we recall some definitions of partial metric spaces and some their properties.

Definition 1.1

A partial metric space on nonempty set X is a function p:

 $X \times X \longrightarrow \mathbb{R}^+$ such that for all x, y, $z \in X$:

 $(p1) x = y \iff p(x, y) = p(x, y) = p(y, y);$

(p2) $p(x, x) \leq p(x, y);$

(p3) p(x, y) = p(y, x);

 $(p4) p(x, y) \le p(x, z) + p(z, y) - p(z, z).$

A partial metric space is a pair (X, p) such that X is a nonempty set and p is a partial metric on X. It is clear that if p(x, y) = 0, then from (p1), (p2), and (p3), we conclude that x = y. But if x = y, p(x, y) may not be 0. If p is a partial metric on X, then the function p: $X \times X \longrightarrow R^+$, given by p(x, y) = 2p(x, y) = p(x, y) = p(y, y)

 $p^{s}(x, y) = 2p(x, y) - p(x, x) - p(y, y),$

Is a metric on X.

Definition 1.2

Let (X, p) be a partial metric space. Then (i) a sequence $\{x_n\}$ in partial metric space (X, p) converges to a point $x \in X$

if and only if $p(x, x) = \lim n \xrightarrow{n \to \infty} p(x, x_n)$;

(ii) a sequence {x_n} in partial metric space (X, p is called cauchy sequence if

there exists(and is finite) if $\lim_{n,m\to\infty} p(xm, xn)$; (iii) a partial metric space (X, p) is said to be complete if every Cauchy sequence

{ x_n } in X converges to be $x \in X$, that is $p(x, x) = \lim_{n \to \infty} p(x_m, x_n)$ Now; we recall the following technical Lemma (see [2] and [6]).

Lemma 1.3

Let (X, p) be a partial metric space, then

(a) { x_n } is a Cauchy sequence is (X, p) if and only if it is a Cauchy sequence in the metric space (X, p).

(b) a partial metric space (X, p) is complete if only if the metric space (X, p^s)

is complete; furthermore $\lim n \to \infty ps(x_n, x) = 0$ and if only if

 $\begin{array}{llll} & \lim_{n \to \infty} & \lim_{n \to \infty} p(x_n, x) = \frac{n, m \to \infty}{n, m \to \infty} p(x_n, x_m). \end{array}$ **Definition 1.4.** A point $u \in X$ is called a coincidence point of the pair f, g and v is its point of coincidence if fu = gu = v. The pair (f, g) is said to be weakly compatible if for each $x \in X$, f x = gx implies that f gx = g f x.

2. Main results

Theorem 2.1

Let (X, p) be a compleat partial metric space and the mappings

f, g, h : $X \rightarrow X$ satisfy:

 $p(f x, gy) \stackrel{\leq \alpha_1}{=} p(hx, hy) + \stackrel{\alpha_2}{=} p(hx, f x) + \stackrel{\alpha_3}{=} p(hy, gy) + \stackrel{\alpha_4}{=} p(hx, gy) + \stackrel{\alpha_5}{=} p(hy, f x), \text{ for all } x, y \in X, \text{ where } \stackrel{\alpha_i}{=} are$

nonnegative and $\sum_{i=1}^{\infty} \alpha_i \leq 1.If$ f(X) Ug(X) \subseteq h(X) and h(X) is a complete subspace of X, then f, g, and h have a unique point of coincidence. Moreover, if f, h and g, h are weakly compatible, then f, g, and have a unique common fixed point.

Proof. Let $x_0 \in X$ be arbitrary. By using the condition $f(X) Ug(X) \subseteq h(X)$, choose a sequence $\{x_n\}$ such that $hx_{2n+1} = fx_{2n}$ and $hx_{2n+2} = gx_{2n+1}$ for all

 $n \in N$. Applying contractive condition we obtain that

 $\begin{aligned} p(hx_{2n}+1, hx_{2n+2}) &= p(fx_{2n}, gx_{2n+1}) \leq \alpha_1 p(hx_{2n}, hx_{2n+1}) + \alpha_2 p(hx_{2n}, hx_{2n+1}) \\ &+ \alpha_3 p(hx_{2n+1}, hx_{2n+2}) + \alpha_4 p(hx_{2n}, hx_{2n+2}) + \alpha_5 p(hx_{2n+1}, hx_{2n+1})) \\ &\leq \alpha_1 p(hx_{2n}, hx_{2n+1}) + \alpha_2 p(hx_{2n}, hx_{2n+1}) \\ &+ \alpha_3 p(hx_{2n+1}, hx_{2n+2}) + \alpha_4 p(hx_{2n}, hx_{2n+1}) \\ &+ \alpha_4 p(hx_{2n+1}, hx_{2n+2}) - \alpha_4 p(hx_{2n+1}, hx_{2n+1}) + \alpha_5 p(hx_{2n+1}, hx_{2n+1})) \\ &\leq \alpha_1 p(hx_{2n}, hx_{2n+1}) + \alpha_2 p(hx_{2n}, hx_{2n+1}) \\ &+ \alpha_3 p(hx_{2n+1}, hx_{2n+2}) + \alpha_4 p(hx_{2n}, hx_{2n+1}) \\ &+ \alpha_4 p(hx_{2n+1}, hx_{2n+2}) + \alpha_4 p(hx_{2n}, hx_{2n+1}) \\ &+ \alpha_4 p(hx_{2n+1}, hx_{2n+2}) + \alpha_4 p(hx_{2n}, hx_{2n+1}) \\ &+ \alpha_4 p(hx_{2n+1}, hx_{2n+2}) + \alpha_5 p(hx_{2n+1}, hx_{2n+1})) (2.1) \end{aligned}$

It follows that $(1 - \alpha_3 - \alpha_4 - \alpha_5)p(hx_{2n+1}, hx_{2n+2}) \leq (\alpha_1 - \alpha_2 - \alpha_4)p(hx_{2n}, hx_{2n+1})$. That is

$$p(hx_{2n+1}, hx_{2n+2}) \leq \left(\frac{\alpha_1 + \alpha_2 + \alpha_4}{1 - \alpha_3 - \alpha_4 - \alpha_5}\right) p(hx_{2n}, hx_{2n+1}),$$
(2.2)

and similarly

- $p(hx_{2n+2}, hx_{2n+3}) = p(fx_{2n+1}, gx_{2n+2}) \le \alpha_1 p(hx_{2n+1}, hx_{2n+2})$ $+ \alpha_2 p(hx_{2n+1}, hx_{2n+2}) + \alpha_3 p(hx_{2n+2}, hx_{2n+3})$ $+ \alpha_4 p(hx_{2n+1}, hx_{2n+3}) + \alpha_5 p(hx_{2n+2}, hx_{2n+2}))$ $_ \alpha_1 p(hx_{2n+1}, hx_{2n+2}) + \alpha_2 p(hx_{2n+1}, hx_{2n+2})$ $+ \alpha_3 p(hx_{2n+2}, hx_{2n+3}) + \alpha_4 p(hx_{2n+1}, hx_{2n+2})$ $+ \alpha_5 p(hx_{2n+2}, hx_{2n+3}) + \alpha_4 p(hx_{2n+1}, hx_{2n+2})$
- + $\alpha_{4p}(hx_{2n+2}, hx_{2n+3}) \alpha_{4p}(hx_{2n+2}, hx_{2n+2}) + \alpha_{5p}(hx_{2n+2}, hx_{2n+3}))$ _ $\alpha_{1p}(hx_{2n+1}, hx_{2n+2}) + \alpha_{2p}(hx_{2n+1}, hx_{2n+2})$ + $\alpha_{3p}(hx_{2n+2}, hx_{2n+3}) + \alpha_{4p}(hx_{2n+1}, hx_{2n+2})$
- + $\alpha_{3}p(\Pi x_{2n+2}, \Pi x_{2n+3}) + \alpha_{4}p(\Pi x_{2n+1}, \Pi x_{2n+2})$
- + $\alpha_{4p}(hx_{2n+2}, hx_{2n+3})$ + $\alpha_{5p}(hx_{2n+2}, hx_{2n+3})$). (2.3)

It follows that $(1 - \alpha_3 - \alpha_4 - \alpha_5)p(hx_{2n+2}, hx_{2n+3}) \le (\alpha_1 + \alpha_2 + \alpha_4)p(hx_{2n+1}, hx_{2n+2})$, that is

$$p(hx_{2n+2}, hx_{2n+3}) \leq \left(\frac{\alpha_1 + \alpha_2 + \alpha_4}{1 - \alpha_3 - \alpha_4 - \alpha_5}\right) p(hx_{2n+1}, hx_{2n+2})$$
$$\leq \left(\frac{\alpha_1 + \alpha_2 + \alpha_4}{1 - \alpha_3 - \alpha_4 - \alpha_5}\right)^2 p(hx_{2n}, hx_{2n+1})$$
(2.4)

Now, from (2.2) and (2.4) by induction, we obtain that

$$p(hx_{2n+1}, hx_{2n+2}) \leq \left(\frac{\alpha_1 + \alpha_2 + \alpha_4}{1 - \alpha_3 - \alpha_4 - \alpha_5}\right) p(hx_{2n}, hx_{2n+1})$$

$$\leq \left(\frac{\alpha_1 + \alpha_2 + \alpha_4}{1 - \alpha_3 - \alpha_4 - \alpha_5}\right)^2 p(hx_{2n-1}, hx_2n)$$

$$\leq \left(\frac{\alpha_1 + \alpha_2 + \alpha_4}{1 - \alpha_3 - \alpha_4 - \alpha_5}\right)^3 p(hx_{2n-2}, hx_{2n-1})$$

$$\leq \dots \leq \left(\frac{\alpha_1 + \alpha_2 + \alpha_4}{1 - \alpha_3 - \alpha_4 - \alpha_5}\right)^{n+3} p(hx_0, hx_1)$$
On the other band

On the other hand.

(2.6)
$$p(hx_{2n+2}, hx_{2n+3}) \leq \left(\frac{\alpha_1 + \alpha_2 + \alpha_4}{1 - \alpha_3 - \alpha_4 - \alpha_5}\right) p(hx_{2n+1}, hx_{2n+2})$$
$$\leq \dots \leq \left(\frac{\alpha_1 + \alpha_2 + \alpha_4}{1 - \alpha_3 - \alpha_4 - \alpha_5}\right)^{n+4} p(hx_0, hx_1)$$
$$\alpha = \left(\frac{\alpha_1 + \alpha_2 + \alpha_4}{1 - \alpha_3 - \alpha_4 - \alpha_5}\right)^{n+4} p(hx_0, hx_1)$$

Let
$$\alpha = \left(\frac{\alpha_1 + \alpha_2 + \alpha_4}{1 - \alpha_3 - \alpha_4 - \alpha_5}\right)$$
Since

 $p(hx_{2n+1}, hx2m+1) \le p(hx_{2n+1}, hx_{2n+2}) + p(hx_{2n+2}, hx_{2m+1}) - p(hx_{2n+1}, hx_{2n+1}),$ and

 $p(hx_{2n+2}, hx_{2m+1}) \le p(hx_{2n+2}, hx_{2n+3}) + p(hx_{2n+3}, hx_{2m+1}) - p(hx_{2n+3}, hx_{2n+3}).$ Then for every n < m, we have

$$p(hx_{2n+1}, hx_{2m+1}) \leq p(hx_{2n+1}, hx_{2n+2}) + ... + p(hx_{2n}, hx_{2m+1}) \leq (\alpha^{n+3} + \alpha^{n+4} + ... + \alpha^m) p(hx_0, hx_1) \leq \alpha^n (1 + \alpha + \alpha^2 + ... + \alpha^n) p(hx_0, hx_1)$$
(2.7)

$$=\alpha^n \left(\frac{1-\alpha^{n+1}}{1-\alpha}\right) p(hx_0, hx_1),$$

and similarly

$$p(hx_{2n}, hx_{2m+1}) \le \alpha^{n} \left(\frac{1-\alpha^{n+1}}{1-\alpha}\right) p(hx_{0}, hx_{1})$$

$$p(hx_{2n}, hx_{2m}) \le \alpha^{n} \left(\frac{1-\alpha^{n+1}}{1-\alpha}\right) p(hx_{0}, hx_{1})$$

and

$$p(hx_n, hx_m) \le \alpha^n \left(\frac{1-\alpha^{n+1}}{1-\alpha}\right) p(hx_0, hx_1)$$

Hence for n < m

$$p(hx_n, hx_m) \le \alpha^n \left(\frac{1-\alpha^{n+1}}{1-\alpha}\right) p(hx_0, hx_1) \qquad (2.9)$$

Where $\alpha \rightarrow 0$ as n $\rightarrow \infty$. Thus $\lim n \rightarrow \infty$ p(hx_n, hx_m) = 0. By definition of p^s,

we have $p^{s}(x, y) \leq p(x, y)$, so $\lim n \to \infty p^{s}(hx, hxm) = 0$. Then by Lemma 1.3, we conclude that $\{hx_{n}\}$ is a Cauchy sequence in (p^s,X). Since the subspace h(X) is complete, there exist u, $v \in X$ such that $hx_n \rightarrow v = hu(n \rightarrow \infty)$. We will prove that hu = fu = gu. Firstly, let us estimate that p(hu, fu) =p(v, fu). We have that

$$p(hu, fu) \leq p(hu, hx_{2n+2}) + p(hx_{2n+2}, fu) - p(hx_{2n+2}, hx_{2n+2})$$

$$\leq p(hu, hx_{2n+2}) + p(hx_{2n+2}, fu) = p(v, hx_{2n+2}) + p(gx_{2n+1}, fu)$$
(2.10)

On the other hand

$$p(fu, gx_{2n+1}) \leq \alpha_{1} p(hu, hx_{2n+1}) + \alpha_{2} 2p(hu, fu) + \alpha_{3} p(hx_{2n+1}, gx_{2n+1}) + \alpha_{4} p(hu, gx_{2n+1}) + \alpha_{5} p(hx_{2n+1}, fu)) = \alpha_{1} p(v, fx_{2n}) + \alpha_{2} p(v, fu) + \alpha_{3} p(fx_{2n}, gx_{2n+1}) + \alpha_{4} p(v, gx_{2n+1}) + \alpha_{5} p(fx_{2n}, fu)).$$
(2.11)
It follows by (2.10)

lt

$$p(f_{u},v) \leq p(u,hx_{2n+2}) + p(gx_{2n+1},f_{u})$$

$$\leq p(u,gx_{2n+1}) + (\alpha_{1} + \alpha_{4})p(u,fx_{2n}) + (\alpha_{2} + \alpha_{4})p(v,f_{u})$$

$$+ \alpha_{3}p(f_{x_{2n}},gx_{2n+1}) + \alpha_{4}p(u,gx_{2n+1}) + \alpha_{5}p(f_{x_{2n}},f_{u}).$$
(2.12)

That is

$$(1 - \alpha_2 - \alpha_4) p(fu, v) \leq (\alpha_1 + \alpha_4) p(v, fx_{2n}) + (1 + \alpha_4) p(v, gx_{2n+1}) + \alpha_3 p(fx_{2n}, gx_{2n+1}) + \alpha_5 p(fx_{2n}, fu).$$
(2.13)

Then

$$p(v, fu) \leq \left(\frac{\alpha_{1} + \alpha_{4}}{1 - \alpha_{2} - \alpha_{4}}\right) p(v, fx_{2n}) + \left(\frac{1 - \alpha_{4}}{1 - \alpha_{2} - \alpha_{4}}\right) p(v, gx_{2n+1}) + \left(\frac{\alpha_{3}}{1 - \alpha_{2} - \alpha_{4}}\right) p(fx_{2n}, gx_{2n+1}) + \left(\frac{\alpha_{5}}{1 - \alpha_{2} - \alpha_{4}}\right) p(fx_{2n}, fu). \quad (2.14)$$

Since $p(v, gx_{2n+1}) = \lim_{n \to \infty} p(hx_n, hx_{2n+2}) = 0$, so similarly we can show that

 $\lim n \longrightarrow \infty p(v, fx_{2n}) = 0, \lim n \longrightarrow p(fu, fx_{2n}) = 0, \text{ and } \lim n \longrightarrow p(gx_{2n+1}, fx_{2n}) = 0.$ By gathering of later obtained results we have p(v, fu) = 0, that is fu = hu = v.

Similarly using

$$p(hu, gu) \leq p(hu, hx_{2n+1}) + p(hx_{2n+1}, gu) - p(hx_{2n+1}, hx_{2n+1})$$

$$\leq p(huhx_{2n+1}) + p(hx_{2n+1}, gu)$$

$$= p(huhx_{2n+1}) + p(fx_{2n}, gu) \qquad (2.15)$$

it can be deduced that hu = gu = v. It follows that v is a common point of coincidence for f, g, h, that is

v = fu = gu = hu.

Now we prove that the point of coincidence of f, g, h is unique. Suppose that there is another point v1 2 X such that

$$v_1 = fu_1 = gu_1 = hu_1,$$

for some $u_1 \in X$. Using the contractive condition we obtain that

$$p(v,v_1) = p(fu, gu_1) + \alpha_1 p(hu, hu_1) + \alpha_2 p(hu, fu)$$
$$+ \alpha_2 p(hu, gu_1) + \alpha_2 p(hu, gu_1) + \alpha_2 p(hu, fu)$$

$$=\alpha_{1}p(v,v_{1}) + \alpha_{2}p(v,v_{1}) + \alpha_{3}p(v_{1},v_{1}) + \alpha_{4}p(v,v_{1}) + \alpha_{5}p(v_{1},v)$$

$$\leq \alpha_{1}p(v,v_{1}) + \alpha_{2}p(v,v_{1}) + \alpha_{3}p(v_{1},v) + \alpha_{4}p(v,v_{1}) + \alpha_{5}p(v_{1},v)$$

 $= (\alpha_1 + \alpha_2 + \alpha_3 + \alpha_4 + \alpha_5)p(v, v_1)$

Since $(\alpha_1 + \alpha_2 + \alpha_3 + \alpha_4 + \alpha_5) \le 1$ it follows that $p(v, v_1) = 0$, that is, $v = v_1$. Using weak compatibility of the pairs (f, h) and (g, h) and Proposition 1.12 of [1], it follows that the mappings f, g, h have a unique common fixed point, that is, fv = gv = hv = v. Now; by above Theorem we have the following results.

Corollary 2.2

Let (X, p) be a partial metric space and the mappings f, g, h :

 $X \rightarrow X$ satisfy

 $p(fx, gy) \leq \alpha p$ (hx, hy) + β [(hx, fx) + p(hy, gy)] + γ [p(hx, gy) + p(hy, fx)],for all x, y \in X, where $\alpha, \beta, \gamma \geq 0$ and $\alpha + 2\beta + 2\gamma < 1$. If f(X) Ug(X) \subseteq h(X)

and h(X) is a complete subspace of X, then f, g, and h have a unique point of coincidence. Moreover, if (f, g) and (g, h) are weakly compatible, then f, g, and h have a unique common fixed point.

Corollary 2.3

Let (X, p) be a complete partial metric space, and let the mappingsf, g : X \rightarrow X satisfy

 $p(fx, gy) \leq \alpha p(x, y) \beta [p(x, fx), p(y, gy)] + \gamma [p(x, gy) + p(y, fx)],$ for allx, $y \in X$, where $\alpha, \beta, \gamma \geq and \alpha + 2\beta + 2\gamma < 1$. Then f and g have a unique common fixed point inX. Moreover, any fixed point of f is a fixed point of g, and conversely.

Corollary 2.4. Let (X, p) be a partial metric space, and let f, g : $X \longrightarrow X$ be such that $f(X) \subseteq g(X)$. Suppose that

 $p(fx, fy) \le \alpha p(fx, gx) + \beta p(fy, gy) + \gamma p(gx, gy)$

for all x, $y \in X$, where $\alpha, \beta, \gamma \in [0, 1]$ and $\alpha + \beta + \gamma < 1$, and let fx = gx imply that fgx = ggx for each $x \in X$. If f(X) or g(X) is a complete subspace of X, then the mappings f and g have a unique common fixed point in X.

Example 2.5

Let p : $X \times X \longrightarrow [0, \infty)$ by p(x, y) = max{x, y}. Then (X, p) is complete because (X, dp) is complete. Indeed for any x, $y \in X$.

 $dp(x, y) = 2p(x, y) - p(x, x) - p(y, y) = 2max\{x, y\} - (x + y) = |x - y|$

Thus $(X, dp) = ([0, +\infty), |.|)$ is the usual metric space, which complete. We define $fx = \frac{x}{8}$, $gx = \frac{x}{12}$ and $hx = \frac{x}{2}$ then $p(hx, hy) = \frac{x}{2}$; $p(hx, fx) = \frac{x}{2}$; $p(hy, gy) = \frac{y}{2}$; $p(hx, gy) = \frac{x}{2}$; $p(hy, fx) = \frac{y}{2}$; and $p(fx, gy) = \frac{x}{8}$ $p(fx, gy) = \frac{x}{8} \le \alpha_1 p(hx, hy) + \alpha_2 p(hx, fx) + \alpha_3 p(hy, gy) + \alpha_4 p(hx, gy) + \alpha_5 p(hy, fx)$ $= \alpha_1 \frac{x}{2} + \alpha_2 \frac{x}{2} + \alpha_3 \frac{y}{2} + \alpha_4 \frac{x}{2} + \alpha_5 \frac{x}{2}$ $\le (\sum_{i=1}^{5} \alpha_i) \frac{x}{2} \le \frac{x}{2}$

Hence all the conditions of Theorem (2.1) are satisfied. Therefor x = 0 is common fixed point of the mappings f, g, and h.

Example 2.6

Similarly of example (2.5) let p : X × X \rightarrow [0, ∞) by p(x, y) = max{x, y}. We define fx = -x², gx = x² and hx = x³ then p(hx, hy) = x³; p(hx, fx) = x³; p(hy, gy) = y³; p(hx, gy) = x³; p(hy, fx) = x³; and p(fx, gy) = y² p(fx, gy) = y² $\propto \alpha_1$ p(hx, hy) + α_2 p(hx, fx) + α_3 p(hy, gy) + α_4 p(hx, gy) + α_5 p(hy, fx) = $\alpha_1 x^3 + \alpha_2 x^3 + \alpha_3 y^3 + \alpha_4 y^3 + \alpha_5 x^3$ $\leq (\sum_{i=1}^{5} \alpha_i) y^3 \leq x^3$

Hence all the conditions of Theorem (2.1) are satisfied. Therefor x = 0 is common fixed point of the mappings f, g, and h.

REFERENCES

Abbas M and Jungck G. 2008. Common fixed point results for non-commuting mappings without continuity in cone metric spaces, Journal of Mathematical Analysis and Applications, 341 (1), 416420.

Altun F and Simsek H. 2010. Generalized contractions on partial spaces, Topology and Applications, 157, 2778-2785.

Choudhury S and Kundub A. 2010. A coupled coincidence point result in partially ordered metric spaces for compatible mappings, Nonlinear Analysis, 73, 2524-2531.

Harjani J, Lopez B and Sadarangani K. 2011. Fixed point theorems for weakly C-contractive mappings in ordered metric spaces, Computers and Mathematics with Applications, 61(4), 790-796.

Mathews SG. 1994. Partial metric topoplogy, In Proceedings of the 8th Summer Conference on General Topology and Applications, New York Academy of Sciences, 728, 183-197.

Ran ACM and Reurings MCB. 2004. A fixed point theorem in partially ordered sets and some application to matrix equations, Proc. Amer. Math. Soc., 132, 1435-1443.

Samet B, Rajovi'c M, Lazovi'c R and Stojiljkovi'c R. 2011. Common fixed-point results for nonlinear contractions in ordered partial metric spaces, Fixed Point Theory and Applications 2011, 2011:71.